Buying Chips and Candy T1

This problem gives you the chance to:
» form and solve a pair of linear equations in a practical situation

Ralph and Jody go to the shop to buy potato chips and candy bars.

g%

Ralph buys 3 bags of potato chips and 4 candy bars. He spends $3.75.

Jody buys 4 bags of potato chips and 2 candy bars. She spendé $3.00.

Later Clancy joins Ralph and Jody and asks to'buy one bag of potato chips and one candy bar from
them. They need to work out how much he should pay. ’

w

Ralph writes _ 3p+4b=375

1. If p stands for the cost, in cents, of a bag of potato chips and & stands for the cost, in cents, of a
candy bar, what does the 375 in Ralph’s equation mean?

it Means the clollor amount vith v decinml, the- emyy

AMOUrY | U |

2. Write a similar equation, using p and b, for the items Jody bought.

Llp *¥3b =300 / Z
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3. Use the two equations to figure out the price of a bag of potato chips and the price of a candy bar.
potato chips . Y S ¢ X
candy bar _ s (pO ¢ X

Show your work. O

~2Hp r b7 200 -Yo- *#,=-500

3onipe37s  —Jp2pz 200

.jBP’L{\a =-l00 %Ob:—;loo
-~ 10
3

—op= 23S b “—’é—’
5 =S 2

P=us e

4. Clancy has just $1. Does he have enough money to buy a bag of potato chips and a candy bar?

no

Explain your answer by showing your calculation.

becouse Y5 +.60 =).05 he's S carts over / |
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Buying Chips and Candy

This problem gives you the chance to:
» form and solve a pair of linear equations in a practical situation

Ralph and Jody go to the shop to buy potato chips and candy bars.

Ralph buys 3 bags of potato chips and 4 candy bars. He spends $3.75.

Jody buys 4 bags of potato chips and 2 candy bars. She spends $3.00.

Later Clancy joins Ralph and Jody and asks to buy one bag of potato chips and one candy bar from
them. They need to work out how much he should pay.

Ralph writes ‘ 3p+4b=375

1. If p stands for the cost, in cents, of a bag of potato chips and b stands for the cost, in cents, of a
candy bar, what does the 375 in Ralph’s equation mean?

T 2 0w (nudn vv:_smﬁm
QCLM;; s (m(! Chles.

2. Write a similar equation, using p and b, for the items Jody bought.

Hp Q=30 s Z
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3. Use the two equations to figure out the price of a bag of potato chips and the price of a candy bar.

potato chips . % X
candy bar . L+© A O

Show your work.

| | 5o
+ - + =
=P Q%a 32) 2p+ 4375

2 >
Yor =80 pTER=IaD
“ H o*10= 3135
pro=38 |
H o+ Qo =200 =50
P w=AS
ge+e=10 Q= 4RASD
o*O=T75 o=8Q 40

4. Clancy has just $1. Does he have enough money to buy a bag of potato chips and a candy bar?

Explain your answer by showing your calculation. 5
bl &0
WD [ {t
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Buying Chips and Candy

This problem gives you the chance to:
» form and solve a pair of linear equations in a practical situation

Ralph and Jody go to the shop to buy potato chips and candy bars.

T

Ralph buys 3 bags of potato chips and 4 candy bars. He spends $3.75.

Jody buys 4 bags of potato chips and 2 candy bars. She spends $3.00.

Later Clancy joins Ralph and Jody and asks to buy one bag of potato chips and one candy bar from
them. They need to work out how much he should pay.

: (9?( (5} o
. W
Ralph writes 3p+ 4b 375

1. If p stands for the cost, in cents, of a bag of potato chips and & stands for the cost, in cents, of a
candy bar, what does the 375 in Ralph’s equation mean?

245 s e dohol Fof cents Ralph spent
on hi rdanrs and potodo chipgs.

2. Write a similar equation, using p and &, for the items Jody bought.

/
4p +2b =300
D= Cobt I cents ot . potado chiys
b« cood n cent of Yhe candy oot
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3. Use the two equations to figure out the price of a bag of potato chips and the prlce of a candy bar.
potato chips (”IS
candy bar . (0 o O
Show your work. P CR

?&ipk—'s 4 375( {5

I35

7 ; & 75 ?.%
r 219150 s 4
e 57 1=
=, Is

hOE

A R & °

& e/

T

4. Clancy has just $1. Does he have/%z)ugh money to buy a bag of potato chips and a candy bar?

No

Explain your answer by showing your calculation.

ool
for_ofy_ob each it would be 5155 so it wadd
b over 31,00 which wiedd meam he wudda '
howeenag mon, / |
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Buying Chips and Candy

This problem gives you the chance to:
« form and solve a pair of linear equations in a practical situation

Ralph and Jody go to the shop to buy potato chips and candy bars.

g%

Ralph buys 3 bags of potato chips and 4 candy bars. He spends $3.75.

Jody buys 4 bags of potato chips and 2 candy bars. She spends $3.00.

Later Clancy joins Ralph and Jody and asks to buy one bag of potato chips and one candy bar from
them. They need to work out how much he should pay.

Ralph writes 3p+4b=375

1. If p stands for the cost, in cents, of a bag of potato chips and b stands for the cost, in cents, of a
candy bar, what does the 375 in Ralph’s equation mean?

275 is Mo  answen N rephs q;ml&m- A

2. Write a similar equation, using p and b, for the items Jody bought.
HP+a8 =300 ‘/

v /) < Fosalp
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3. Use the two equations to figure out the price of a bag of potato chips and the price of a candy bal«. I

potato chips el X

candy bar /. 5“0 < O

Show your work.

(D= 26-3290
=t Y N O
p=75

4. Clancy has just $1. Does he have enough money to buy a bag of potato chips and a candy bar?

Explain your answer by showing your calculation.

As lecaice A___candy b alore.  xest [0

/' (4t
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Buying Chips and Candy

This problem gives you the chance to:
« form and solve a pair of linear equations in a practical situation

Ralph and Jody go to the shop to buy potato chips and candy bars.

g%

< ~'/

Ralph buys 3 bags of potﬁ) chips and 4 carﬁ; bars. He spends $3. 75 9. Y - 3 .7 2

IH

Jody buys 4 bags of potato chips and 2 candy bars. She spends $3.00. 4 P A 2}9 53 oo

Later Clancy joins Ralph and Jody and asks to buy one bag of potato chips and one candy bar from |
them. They need to work out how much he should pay. '
Ralph writes 3p+4b=1375

1. If p stands for the cost, in cents, of a bag of potato chips and b stapds for the cost in cents, ofa
candy bar, what does the 375 in Ralph’s equation mean? Y {c o\ Qo N Uf» W (o, 1l ¢

.’3,'1
%Yr?j; "sru x(," N ”~>(qu4 ’uh’ 375 /
ﬂp%ﬁ@&% | %6+ 4h.218
Le-y

e - 2 O
- Gp. UL S L_‘!\E_l}q:—?
A !

2. Write a similar equation, using p and b, for the items Jody bought.

L\"'\?—\")\\D:’z)@o ‘/ Z
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3. Use the two equations to figure out the price of a bag of potato chips and the price of a candy bar.
potato chips zii\‘ S AN

candy bar é o N O

Show your work.

2P 2 b=375
U(Q _\_fz‘b:‘&j@ )(EZ)
“gp - bl -fo0

«ap"“’Q?ﬁ /
L p= o)

3(({5\ eb=375
Lo atub = 37°
BANS 2lo
b = Go

4. Clancy has just $1. Does he have enough money to buy a bag of potato chips and a candy bar?

Ao

Explain your answer by showing your calculation.

ax“&mq uj C im:‘;}g,-\- a CG.\{\G&-\ ﬁnm;( -~ \mC\:
Cr o N / (
(go 4 L§€ :!.“ \oo '

152

Resource Service. Al rights reserved.
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Buying Chips and Candy S 1

This problem gives you the chance to:
* form and solve a pair of linear equations in a practical situation

Ralph and Jody go to the shop to buy potato chips and candy bars.

Ralph buys 3 bags of potato chips and 4 candy bars. He spends-$3.75.

Jody buys 4 bags of potato chips and 2 candy bars. She spyends $3.00.

Later Clancy joins Ralph and Jody and asks to buy one bag of potato chips and one candy bar from
them. They need to work out how much he should pay.

Ralph writes 3p+4b=1375

1. If p stands for the cost, in cents, of a bag of potato chips and b stands for the cost, in cents, of a
ca dy bar, what does the 375 in Ralph’s equation mean?

I 235 ¢ e dotal amount oL rnone.
he spunt,on % beas OF potado Oh Cé, ond
4’ C(M\AN b&ﬂs | A O

2. Write a similar equation, using p and b, for the items Jody bought

/
‘kp%gb ﬁ%QQ (D
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3. Use the two equations to figure out the price of a bag of potato chips and the price of a candy bar.

potato chips 4\g ¢ e )
candy bar (.0 O CF / ‘

Show your work.

%b‘?ﬂj ﬁ-p 13 be200
2p |
2 %“4\/ - 37§ Ly - 4\_) =TS
@3t 20 ity 00
T = -225
2% + 4»{: == 3 22

Y 13y 300 AT)

?;><4-4\|'57§

M | 2
A S\‘-L&O v

> V=1LO]
4. Clancy has just $1. Does he have enough money to buy a bag of potato chips and a candy bar?
He QDOC ST }Z“\J@
e 2 20T
Qnd there 78/ 3O XY //e to X . S |
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Buying Chips and Candy

This problem gives ydu the chance to:
» form and solve a pair of linear equations in a practical situation

Ralph and Jody go to the shop to buy potato chips and candy bars.

Ralph buys 3 bags of potato chips and 4 candy bars. He spends $3.75.

Jody buys 4 bags of potato chips and 2 candy bars. Shg spends $3.00.

Later Clancy joins Ralph and Jody and asks to buy one bag of potato chips and one candy bar from
them. They need to work out how much he should pay.

Ralph writes 3p+4b=1375

1. If p stands for the cost, in cents, of a bag of potato chips and b stands for the cost, in cents, of a
candy bar, what does the 375 in Ralph’s equation mean?

The 4etal ﬁﬂw&

X J%/ oo — V\e ‘@VO-C."WG-SS’

2. Write a similar equation, using p and b, for the items Jody bought. /

41'(0 t2b=300 *
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3. Use the two equations to figure out the price of a bag of potato chips and the price of a candy §2

potato chips _j QS | ‘/

" . . | candy bar §1, SZ X O
Pt A=
(2 et 5olz)
<3f» +Y%b -9
g
-~ 80 %E”{go

-\S@=n225
0= /

(1

4. Clancy has just $1. Does he have enough money to buy a bag of potato chips and a candy bar?

IS

Explain your answer by showing your calculation.

She ow(\/. haS ane dollav

3 (02 ‘ / [t
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Buying Chips and Candy

This problem gives you the chance to: ,
» form and solve a pair of linear equations in a practical situation

Ralph and Jody go to the shop to buy potato chips and candy bars.

Ralph buys 3 bags of potato chips and 4 candy bars. He spends $3.75.

Jody buys 4 bags of potato chips and 2 candy bars. She spends $3.00.

Later Clancy joins Ralph and Jody and asks to buy one bag of potato chips and one candy bar from
them. They need to work out how much he should pay.

Ralph writes 3p+4b=1375

1. If p stands for the cost, in cents, of a bag of potato chips and b stands for the cost, in cents, of a
candy bar, what does the 375 in Ralph’s equation mean?

s the 4otal cost,

A

2. Write a similar equation, using p and b, for the items Jody bought.

Up+2b=300 / 7
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3. Use the two equations to figure out the price of a bag of potato chips and the price of a candy bar.
potato chips 45 cents v
candy bar O Q@f\{' S v ]

Show your work.

3p +4b=315
(e +2b = 300)2
3ptHb=315
5p=223
p=45
345)+4b=30% |
135149 b=375 a Z
Yp=24 0 ,,
SO

4. Clancy has just $1. Does he have enough money to buy a bag of potato chips and a candy bar?

No
Explain your answer by showing your calculation.
0 & LD+HH |
IO £106 v
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Buying Chips and Candy

This problem gives you the chance to:
« form and solve a pair of linear equations in a practical situation

Ralph and Jody go to the shop to buy potato chips and candy bars.

Ralph buys 3 bags of potato chips and 4 candy bars. He spends $3.75.

Jody buys 4 bags of potato chips and 2 candy bars. She spends $3.00.

Later Clancy joins Ralph and Jody and asks to buy one bag of potato chips and one candy bar from
them. They need to work out how much he should pay.

Ralph writes 3p+4b=1375

1. If p stands for the cost, in cents, of a bag of potato chips and b stands for the cost, in cents, of a
candy bar, what does the 375 in Ralph’s equation mean?

P
N Oegue  His @ser v |

2. Write a similar equation, using p and b, for the items Jody bought.

‘-I(\)‘“Qb':S(I) / 2
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3. Use the two equations to figure out the price of a bag of potato chips and the price of a candy bar.
cl
potato chipst < X =
candy baD,Q) OA “~ . O

Show your work.

4. Clancy has just $1. Does he have enough money to buy a bag of potato chips and a candy bar?

Ne

Explain your answer by showing your calculation.

= \oo&‘\) X L\,\\.\D> Ts .f/S't O & C;G,W!a f
~_\P‘“ Cogk . ®¢ o The e\ el be | \,03
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Buying Chips and Candy

This problem gives you the chance to:
* form and solve a pair of linear equations in a practical situation

Ralph and Jody go to the shop to buy potato chips and candy bars.

===

Ralph buys 3 bags of potato chips and 4 candy bars. He spends $3.75.

Jody buys 4 bags of potato chips and 2 candy bars. She spends $3.00.

Later Clancy joins Ralph and Jody and asks to buy one bag of potato chips and one candy bar from
them. They need to work out how much he should pay.

Ralph writes 3p +4b=1375

1. If p stands for the cost, in cents, of a bag of potato chips and b stands for the cost, in Cents, ofa
candy bar, what does the 375 in Ralph’s equation mean?

N

2. Write a similar equation, using p and b, for the items vJody bought.

=3pib37¢ X O

' U
.,_\/: 3F+L/b - 375 J
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3. Use the two equations to figure out the price of a bag of potato chips and the price of a candy §5

potato chips [.2S X

candybar _, 4% X O

Show your work.

31@337

4. Clancy has just $1. Does he have enough money to buy a bag bf potato chips and a candy bar?

No

Explain your answer by showing your calculation.

M&_KMELCQS‘%M&_SKM

L enough My *Q_Q%Mm(qn S
buy Q@M}t boe.
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Buying Chips and Candy

This problem gives you the chance to:
» form and solve a pair of linear equations in a practical situation

Ralph and Jody go to the shop to buy potato chips and candy bars.

Ralph buys 3 bags of potato chips and 4 candy bars. He spends $3.75.

Jody buys 4 bags of potato chips and 2 candy bars. She spends $3.00.

Later Clancy joins Ralph and Jody and asks to buy one bag of potato chips and one candy bar from
them. They need to work out how much he should pay.

Ralph writes 3p+4b=1375

1. If p stands for the cost, in cents, of a bag of potato chips and b stands for the cost, in cents, of a
candy bar, what does the 375 in Ralph’s equation mean?

379 5 TR amount  in cets

SAQ; ‘x&ﬂ oY\ gg‘_\fh Qaka\io thpg
l

S
__an)_ (,N&\}J Dafs  Combwme, v~
2. Write a similar equation, using p and b, for the items Jody bought.

pirerz300 2
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3. Use the two equations to figure out the price of a bag of potato chips and the price of a can;y E‘ar.
potato chips N 7 5 <
candy bar gb -~ @

Show your work.

3754300
.75
3 7|63

—_—

6.7S

4. Clancy has just $1. Does he have enough money to buy a bag of potato chips and a candy bar?

yes

Explain your answer by showing your calculation. -

he_ ‘has just ensugh tor

J 1
E—O\(,\A \’)QCQU& \YA D+ M s

Resource Service. All rights reserved.
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Buying Chips and Candy

This problem gives you the chance to:
* form and solve a pair of linear equations in a practical situation

Ralph and Jody go to the shop to buy potato chips and candy bars.

20 - ,%QZ‘D& %

4/6 '»3b $ 3:‘{5

Ralph buys 3 bags of potato chips and 4 candy bars. He spends $3.75.

Jody buys 4 bags of potato chips and 2 candy bars. She spends $3.00. |

Later Clancy joins Ralph and Jody and asks to buy one bag of potato chips and one candy bar from
them. They need to work out how much he should pay.

Ralph writes 3p+4b=1375

1. If p stands for the cost, in cents, of a bag of potato chips and b stands for the cost, in cents, of a
candy bar, what does the 375 in Ralph’s equation mean? .

LEe s Pl l . A

2. Write a similar equation, using p and b, for the items Jody bought.

/S ‘ ’
4/9(f Sb = 200 (\)
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3. Use the two equations to figure out the price of a bag of potato chips and the price of a cangy bar.

potato chips $‘°06 ‘/\ .
candy bar ﬁ A0 ‘[\ l({—

Show your work.

| 3(5)+ 4b =375
-15 -5
4o = 2 2 ft
S\ +9%b=200 - "L
2 tr t f A
b:qo

2p + 40 =316

~Qp— 4b=-400
-5 = -3%
= %

4, Clancy has just $1. Does he have enough money to buy a bag of potato chips and a candy bar?

Q_QO -+,6 % (ﬂ 046 MM
J

Explain your answer by showing your calculation.

(o) + 1(.c6) Fas / e

fk
\0':.‘5-
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Buying Chips and Candy

This problem gives you the chance to:
* form and solve a pair of linear equations in a practical situation

Ralph and Jody go to the shop to buy potato chips and candy bars.

Ralph buys 3 bags of potato chips and 4 candy bars. He spends $3.75. .

Jody buys 4 bags of potato chips and 2 candy bars. She spends $3.00.

Later Clancy joins Ralph and Jody and asks to buy one bag of potato chips and one candy bar from
them. They need to work out how much he should pay.

Ralph writes : 3p+4b=375

1. If p stands for the cost, in cents, of a bag of potato chips and b stands for the cost, in cents, of a
candy bar, what does the 375 in Ralph’s equation mean?

2. Write a similar equation, using p and b, for the items Jody boughf.

‘7’p+2‘b=300 / J
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3. Use the two equations to figure out the price of a bag of potato chips and the price of a candy éar.

potato chips H 2"\ Q\ ay.S/\L 4

o ) candy bar . QO A O
ow your work.
DptAb= 375 Elen :3_’7_200
Kprve3es)  Zfedes
-5*, = -5
’5(36)*‘-\\7"3—75 y= 45

2549 % = 375 / | 2
) = 240
L= 0.

4. Clancy has just $1. Does he have enough money to buy a bag of potato chips and a candy bar?

. nNo.
Explain your answer by showing your calculation. /

(o445 = 1.p5 > Lo® [
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Buying Chips and Candy

This problem gives you the chance to:
* form and solve a pair of linear equations in a practical situation

Ralph and Jody go to the shop to buy potato chips and candy bars.

Ralph buys 3 bags of potato chips and 4 candy bars. He spends $3.75.
3¢t Yc=3.75
Jody buys 4 bags of potato chips and 2 candy bars. She spends $3.00.
Gorpc=300
Later Clancy joins Ralph and Jody and asks to buy one bag of potato chips and one candy bar from
them. They need to work out how much he should pay. x le=

'p
Ralph writes 3p+4b=375

1. If p stands for the cost, in cents, of a bag of potato chips and b stands for the cost, in cents, of a
candy bar, what does the 375 in Ralph’s equation mean?

Hor mah_he spont Aol oo _both dems.

Total (o5t

A 0

2. Write a similar equation, using p and b, for the items Jody bought.

4o +Dp =30 -’
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3. Use the two equations to figure out the price of a bag of potato chips and the price of a candy ;ar.

potato chips . 7;% X
candy bar . (aO g X O

Show your work.

310_(,&\\9 -S7S

. & -4 :-600
g T X
08 . 7S (1)

4. Clancy has just $1. Does he have enough money to buy a bag of potato chips and a candy bar?

Y2,

Explain your answer by showing your calculation.

Deore ,  Toaphur YU Sty qdd P o
§
e o S
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Buying Chips and Candy 81 O
This problem gives you the chance to: .

» form and solve a pair of linear equations in a practical situation

Ralph and Jody go to the shop to buy potato chips and candy bars.

Ralph buys 3 bags of potato chips and 4 candy bars. He spetiiis $3.75.

Jody buys 4 bags of potato chips and 2 candy bars. She spends $3.00.

Later Clancy joins Ralph and Jody and asks to buy one bag of potato chips and one candy bar from
them. They need to work out how much he should pay.

Ralph writes 3p+4b=1375

1. If p stands for the cost in cents, of a bag of potato chips and b stands for the cost, in cents, of a
candy bar, what does the 375 in Ralph’s equation mean?

e 375 MewS §225 fof Wl totml A

2. Write a similar equation, using p and b, for the items Jody bought.

4P L= S 2
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3. Use the two equations to figure out the price of a bag of potato chips and the price of a candy éar.

potato chips Ltf-B & -
candy bar Go t / f

Show your work. Jf‘t‘ \.{»L:) 75 |
"l*FTo\L:-,?OO Do tab=)s0
~IP-%Ll=-coo A =W

| = | Z
=0r =g b=¢o /

=45 RZ’E’;TQ‘I'()::)Z\;

i
4. Clancy has just $1. Does he have enough money to buy a bag of potato chips and a candy bar?

Gt 4s=

 Explain your answer by showing your calculation. \ d 5 /

P
No. He Needr 58 Mope. | |
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